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1 Which institution regulates the ‘money market in Indig ?
(A) Reserve Bank of India (RBI)
(B) Securities and Exchange Board of India (SEBI)
(C) Ministry of Finance
(D) Insurance Regulatory and Development Authority (IRDA)
YRT § I AR F B g it F T ?
(A) v fisd % (RBI)
(B) g wiaufy wa fafimg s (SEBI)
(C) fora e
D) = frm sk fam wiEr (RDA)

2. The time period of Treasury Bills (T-Bills) in India in general ranges from :

(A) 14 days to 91 days (B) 91 days to 1 year
(C) 1 year to 5 years (D) 5 years to 10 years
WA # SR faew (T-Bills) 3 =, 37Efy et et & 2

(A) 14 71 @ 91 fem - (B) 91 K7 ¥ 1 =9

(C) 134 &5 o D) 599 § 10 79

3. The term ‘Repo Rate’ refers to the rate at which -
(A) RBI borrows money from commercial banks
(B) Commercial banks borrow money from RBI
(C) Banks lend money to each other
(D) Banks lend money to their customers
W =W oad ¥ fmw
(A) RBI 7ol S+ @ % sy o
(B) =fvfsas S RBI & 39 swr o &
(C) &% amvw § ¥ wym 27 #
D) S Y WeHl W Y R 2 F
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4. The term ‘Sensex’ is associated with which stock exchange in India ?
(A) Ahmedabad Stock Exchange (ASE)
(B) National Stock Exchange (NSE)
(C) Calcutta Stock Exchange (CSE)
(D) Bombay Stock Exchange (BSE)
e T aRd § feu ©fF wEES 8§ 98 $ 7
(A) STEERER WiE TES (ASE)
(B) M@ I TS (NSE)
(C) ok s wEHw (CSE)
(D) = w=iF e (BSE)

b Which of the following is not a type of capital market instrument in India ?
(A) Equity shares (B) Preference shares
. (C) Debentures (D) Commercial Papers
freffefigd § § FF 9Ra # $ SR STE H YRR T T 2
(A) s wFE (B) Iwiw =€
(C) fesmrd (D) HraRfEa o
6. Which regulatory body is responsible for supervising credit rating agencies in
India ? '

(A) Reserve Bank of India (RBI)

(B) Ministry of Finance

(C) Securities and Exchange Board of India (SEBI)

(D) Bombay Stock Exchange (BSE)

s § wfee W wifeEd @ e @ ferg frerr fams e e w2
(A) g fod % (RBD)

(B) fom #Hater™

(C) wrda wfayfs we fafwa =€ (SEBD

(D) = wfF RS (BSE)

T.B.C. : RT/SL/Co/P2/2024—A 3 PIBO:



1. What does the term “FII” stands for ?
(A) Foreign Industrial Investment
(B) Foreign Institutional Investor
(C) Foreign Investment Institution
(D) Financial Investment Institution
“FII” vIg 1 &1 a1 § 2
A) foesht oieifs faw
(B) favfi weemm fravrs
(C) facvt fEmw weam
(D) foxi few weom
8. What does the term ‘Call Money’ refer to ?
(A) Money deposited in a savings account
(B) Money lent by a bank to its customers
(C) Short-term loans between banks and financial institutions
(D) Long-term loans provided by Reserve Bank of India (RBI)
‘Hld T U W o e ¥ 2
(A) == @d § 5 ¥e
(B) UEH H qH gW R fewm wm ww
(C) =i R faxia TeuHi $ 9 seumies =0
D) wrdE fe §% (RBD R %M fran man Siefeifers wm
9. What does the term ‘CBLO’ stand for ?
(A) Cash-Based Liquidity Option
(B) Commercial Bank Lending Obligation
(C) Collateralized Borrowing and Lending Obligation
(D) Corporate Bond Listing Organization
‘CBLO’ ¥ &1 F1 ad § 2
(A) Hv-amufa fafrfedt fowen
(B) wHivfae S% dfen sifsiiym
(C) FIit@RSe dRET U dfen sifsefim
(D) Rz de fafen arfmEsyE
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10.  Certificate of Deposit (CD) is a money market instrument issued by :

(A) Corporates
(B) Government
(C) Banks

(D) Non-banking Financial Companies (NBFCs)

uﬁﬁ@zmﬁmﬁzwn)@ﬁnﬁzm%ﬁ@mﬁmm%:

(C) i g

(D) -tA-3fwn faxita wufwEl (NBFCs) 81

11. What is the primary function of NSDL in the Indian financial system ?

(A) Regulating the stock markets

(B) Providing credit rating for companies

(C) Providing depository services for securities
(D) Regulating Non-banking Financial Companies (NBFCs)
NSDL 1 wrda fasia womeht § wofus #@ #=01 ® 2

(A) T s w1 e s

(B) ®uf@i & fau wfee W wem &
) forifee & fag feufeed dad we@ =T

(D) HA-Sfen o wuf@ (NBFCs) &1 fa9d T

12. NSDL was established in which year ?

(A) 1987
(C) 1996
NSDL ! oo frg oo & g ot ?
(A) 1987
(C) 1996
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13. The Reserve Bank of India (RBI) issues monetary policy statements :

(A) Monthly ' : (B) Quarterly
(C) Biannually (D) Annually
yrdt ford S (RBI) Hfs +fifa s st wveen ¥ -
(A) wfges (B)  wifas
©) searfii® (D) =t
14. In which year was the Reserve Bank of India (RBI) establiéhed ?
(A) 1935 (B) 1947
(C) 1969 (D) 1951

Wt o S (RBI) #1 e forg ad # g o 2
(A) 1935 (B) 1947
(C) 1969 (D) 1951
15.  Which of the following is not a function of the Reserve Bank of India (RBI) ?
(A) Issuing currency notes
(B) Regulating stock markets
(C) Formulating monetary policy
(D) Acting as a banker to the government
ﬁwi%fﬁaaﬁaa?mmwﬂuﬁaa‘ﬂm(mnmqmwaﬁ% ?
(A) T e SR
(B) W o &1 fram &
(C) #fsw Hfa fmin
(D) &R & fau ¥ & &9 § & F@0
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16. Who was the First Governor of the Reserve Bank of India ?

(A) C. D. Deshmukh (B) Raghuram Rajan
(C) Osborne Smith (D) Shaktikanta Das
aRdrg fiod 9% & e TR BE 4 ?

A) d. . IHE (B) T™ TSH

(C) e fg (D) vfwHd T

17. What is the full form of CRR in banking terminology ?
(A) Cash Reserve Ratio
(B) Current Reserve Ratio
(C) Capital Requirement Regulation
(D) Cash Regulatory Reserve
dfm wi=grEet § CRR &1 U &9 &1 § ?
(A) wu R W
(B) iz fiod Wrh
(C) frew Reemde TEvH
(D) &9 TEed e

18. Which of the following is not a type of mutual fund in India ?

(A) Equity Funds (B) Debt Funds

(C) Balanced Funds (D) Fixed Deposit Funds
ﬁmﬁf@aﬁﬁﬁwwﬁﬁmﬁﬁ@mﬁ% ?

(A) s Ted (B) ¥ ®H

(C) Seie wed D) frees feulfve wew
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19. Entry Load and Exit Load are associated with :
(A) Mutual Fund Tax Saviﬁg Scheme .
(B) Mutual Fund Performance
(C) Mutual Fund Risk
(D) Mutual Fund Expenses
T | IR R A fRed wetm € 2
(A) ™EsE e I Jfam @
(B) WA HE WHHT
(C) WA He Sifed
(D) =Y He o

20. What is an index fund ?

(A) A fund that invests in a single company’s stock :

(B) A fund that aims to replicate the.performance of a specific market index
(C) A fund that invests in a diverse portfolio of assets

(D) A fund that invest in a specific sector

=B W T ?

(A) Th ®e W TH & F H wfF § fow

(B) TH we fous Ry fodl fafire sk gowies & weyl &t &a w0 §
(C) T ws S Hufwal & fafay dewfad # f@aw ww@ &

(D) T ws W & fatme &% & faw & ®

21.  Identifying the right people in rival companies, offering them better terms and
luring them away is popularly called as ..................... : '

(A) Competition (B) Acquisition

(C) Poaching (D) None of these

yiaeaelf wufi § & < w1 TEEH F, I TR WS FGH HET I TR
SR s FE SAR W ot @ wg F W S

(A) wfcrered (B) afemem

(C) wfem D) ¥ § FE &
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22.  “A professor, with a view to play it safe, might give a class grade near the equal

to B, regardless of the differences in individual performances". This is an example

of .coeevveevennennn. bias in Performance Appraisal.
(A) Halo effect (B) Central Tendency
(C) Horn effect (D) Stereotyping

‘e TR, QU Be H1 gfie 9, S WEEH § S % STEe, T U

# @ TR B P ] A ¥ T TR e v gy
IR T

(A) B gHR (B) Hga <

(C) BH 3P (D) wifErmREfm

93. What are three situational criteria identified in the Fiedler model of

leadership ?
(A) Job requirements, position power and leadership ability
(B) Charisma, influence and leader-member relations
(C) Leader-member relations, task structure and position power
(D) Task structure, leadership ability and group conflict
| wewR % g Wew # v M N et W w0 E 2
A) dt F sEvaEad, fofs ik o Y9 ama
(B) hiTHI, Y9E IR Aq-Te& HaY
(C) d-9e= Hay, & G R frufa vl
(D) w1 T, Iga gEa R HHE 9 H
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24. Match the following :

List-A List-B
(@) Job Analysis (@) Grading jobs according to scale of pay
(@) Job Description : (b) A statement of human qualities to fill
the job -
(iii) Job Specification () A process of obtaining job facts
() dJob Classification (d) A statement of duties and

responsibilities of a job

Codes :

@ @ G Go)
B qo) @ G)Eta
(B o) @ (@ B
Cria) @ © @
M ® @@ @ @
frefafes =1 faam =X .

Het-A T+h-B
@) e fagemo (@ A % TR & TR FhfE o Afen
@) Al faarm () Al A & faw we TN w1 T wmm
@ii) et faeieT (€ #rFd & T W HA B GHA
(v) T Tt (d) At & we iR a1
ERiE

®E :

® @ &) o)
A He) () 4b) (o)
(B) %) @ (@ &)
© @ B ©© @
M) e @ @
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25. The “Blind” area in the Johari Window model represents :
(A) Known to self and known to others
(B) Known to self but unknown to others
(C) Unknown to self but known to others
(D) Unknown to self and unknown to others
et S wfew § Ysfwr’’ &% F <o ¥ 2
(A) @d & I AR = w1 7@
(B) @ &I I@ AfHA 3 I 3
(C) T & M AfeT 3= 1 T
(D) =& F f oFE iR o= H ft IEE

26.  What is the other name for vertical job loading ?

(A) Job enrichment (B) Job enlargement

(C) Job evaluation (D) None of these

afdsa e AT &1 qET AW F; T ?

(A) FHd FHEH (B) -t famr

(C) Al qedih (D) = ¥ =8 &
27. According to Kurt Lewin, which of the following is not a stage in change

process ?

(A) Unfreezing ' (B) Restraining

(C) Freezing (D) Changing

o AfE B IER, TREd wEa § S o Td 2

(A) FEHIST (B) fm

(©) wifgT (D) s
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28.  Ifarelationship is important to you and you just want to “hide” your dissatisfaction,
you may choose this conflict management style :

(A) Accommodating (B) Withdrawal
(C) Compromising (D) Collaborating

afe oy fory U ey weEy ¥ iR ey orad erdm @i Cfowrr” = med ¥, @ e
39 Gud yayd Yioft w1 99 F TES §

(A) TWA (B) amqHt
(C) TwEra (D) &AM

29.  Under the Companies Act, 2013, what is the penalty for non-compliance with
the CSR spending requirements by a company ?

(A) Fine on company and directors
(B) Imprisonment of directors
(C) Both fine and imprisonment
(D) Suspension of company operations
HTN TR, 2013 % T8, CSR T i AEvaHa $ @Y I T FW W A
9 & fou €5 | ¥ 2
(A) = R fRyE w SEE
B) fRv=l = srEm
(C) FHM 3R FRE™E Sl
(D) & & G &1 fdem
30.  Which section of the Companies Act, 2013, deals with the appointment of a Chief

Executive Officer (CEO) or Managing Director (MD) and their role in ensuring
good corporate governance ? :

(A) Section 196 _ (B) Section 203
(C) Section 210 (D) Section 220

HUAS TR, 2013 F HEG AN T &4 HEGH AEHEEd (CEQ) a1 yay
fRy=% (MD) %t fgfm iR o= =i WA 1 gifem =3 8§ 57 e

Hafea § ?
(A) 3T 196 ~ (B) 3T 203
(C) M 210 (D) STHF 220
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31. Which section of the Companies Act, 2013, mandates the establishment of an

independent director’s committee, and what is its primary purpose ?
(A) Section 149(2) - Risk Management

(B) Section 178(2) - Nomination and Remuneration

(C) Section 177(4) - Audit Oversight

(D) Section 135(3) - CSR Policy

FTAS TR, 2013 FT P U TH Wi R H1 AiH A T H SaREsma
S ¥, 3R T W@ Se¥E # ¥ 7

(A) ST 149(2) - fEH WeEH

(B) YN 178(2) - AmisA 3R wRAES

(C) oM 177(4) - <@ wden Fme

(D) @gwm 135(3) - CSR ifa

32.  According to Section 50CA of the Income Tax Act, 1961, how is the fair market
value of unquoted shares determined for the purpose of computing capital gains

on their transfer ?

(A) Book value as per the latest audited balance sheet

(B) Net asset value as per the latest audited balance sheet
(C) The value determined by a registered valuer

(D) Average market price on recognized stock exchange

| gt AUl 1961 ® WM 50CA F TR, I TGO TS e H
T B RyF  faaied SRl F Sfaa AR gew $9 fuifa fem Sm R 2

(A) TEHGH e Tfed dod T § O STER IEE qed
(B) en o wifed S W # IR Y$ €9 e
(C) T Uiia qeaiws gr Feifa ged

(D) TG Ve TS [ FEd qeR e

'T.B.C. : RT/SL/Co/P2/2024—A 13 P.T.O.



33.  Under Section 43CA of the Income Tax Act, 1961, when does the deemed stamp
duty value apply for computing income arising from the transfer of immovable
property ?

(A) When the property is held as stock-in-trade

(B) When the property is gifted to a relative

(C) When the property is inherited

(D) When the property is used for business purposes

AFFR AT 1961 F FTIWFT 43CA & 3iaid, 319 T B X0 A Iq= 39
F A % AU A " g qod we o] g § 2

(A) & Hufd WiF-39-3 & &9 § W ot ©

(B) & Hufd T& Hadt # SR § & ot §

(C) = wufv fawrga # fieft &

(D) & wufy = Sevdl & fou swm & o o

34. How does the composition scheme in GST benefit small businesses, and what
are the eligibility criteria for opting into this scheme ?

(A) It provides a flat-rate tax structure and is applicable to businesses with
a turnover up to 1.5 crores.

(B) It exempts small businesses from all taxes and is open to any business size.

(C) It offers tax credits for research and development activities for eligible

businesses.

(D) It is exclusive to service-based businesses with an annual turnover of
50 lakhs or less.

GST # HdSH AN Bl MG H1 H @ TEat € R 39 A # g B

e o= Aee w= ¥ 2

(A) TE TH FAFE-TT FT G J&H HIA ¢ 3R 1.5 FUE 7% & HRER Gl Haqri
W AN B T

(B) ﬂ%iﬁ;mﬁaﬁmﬁﬁﬁwm%ﬁﬂﬁmﬁsﬁwmﬁm
el ¢l

(C) ¥& e =awEl & fau sgEym ok fowm wfafafudi & fou =t #fee wem
FA R

(D) I% Fad Ya-3nuifia Haarl & foau fafire § e aiffs $ReR 50 or@ =
ITY FH T
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35. Examine the role of the Goods and Services Tax Appellate Tribunal (GSTAT)

in the resolution of disputes related to GST. Highlight its powers and functions
!
in ensuring fair and impartial decisions. I

(A) GSTAT is reéponsible for tax collection at the state level. |
. (B) GSTAT is the final appellate authority for GST disputes, ensuring speedy

resolution. | '

(C) GSTAT primarily deals with criminal offenses related to tax evasion.

(D) GSTAT has no jurisdiction over disputes; it is purely an aldvisory_ body

a5 3R Fa1 F e AR (GSTAT) #! GST ¥ Feiftq fami & w=er

ﬁmmﬁsﬁwaﬁlﬁmaﬁﬂﬁmaﬁhﬁﬁﬁﬁmﬁmmﬁﬂ

FEl H IR HL

(A) GSTAT T99 &R W &1 GUew # fay Fedien ¥

(B) GSTAT GST foari % forg sifqw srdicia Wi ¥, Ghaﬁamumgﬁrﬁm
F R |

(C) GSTATg@m@maﬁﬁ@ﬁéﬁmamﬁmm&ﬁaﬁw%l

(D) GSTAT 1 faawi ™ FI3 HAfHFR &% T T 9% W TR W UF FARHR
frema &

36. Ifan individual taxpayer has undisclosed foreign assets and income, which section
of the Income Tax Act, 1961 deals with the taxation and péﬁalty for such
undisclosed assets ? |
(A) Section 115BBE (B) Section 139(1)

(C) Section 271AAA (D) Section 80CCG

ﬁ@mméwmmﬁmmm%ﬁwaﬁﬁw

1961%%%%@&%@%@%@%@?@%@%% ?
(A) ST 115BBE (B) SHYM 139(1) -‘

(C) 3HYM 271AAA (D) 39T 80CCG |
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37.

38.

In the context of international taxation, what is the ‘Equalization Levy’ introduced

in the Income Tax Act, 1961 primarily aimed at taxing ?
(A) Cross-border capital gains (B) Digital transactions
(C) Foreign dividend income (D) Tralisfer pricing adjustments

ST FUuM & weof #, sy sifufem, 1961 # m@ﬁ’a@mﬁ
fFe W = T 1 Ry ¥ 2

(A) € IR ST oy (B) fefsieat v@-29
(C) faceht wnumwr =y (D) T eI GHESH

Mr. John’s minor son, Jacob, has earned interest of Rs. 40,000 on a fixed deposit
with ABC Ltd., gifted to him by his grandfather. Given that John’s income surpasses

that of Mrs. John, what are the tax implications in this scenario ?

(A) Rs. 40,000 shall be taxable in the hands of Jacob

(B) Rs. 40,000 shall be clubbed in the total income of Mrs. John

(C) Rs. 40,000 shall be clubbed in the total income of Mr. John

(D) Rs. 40,000 shall be taxable in the hands of ABC Ltd.

#ft ST % T 9, She, 3 ABC Ltd. ® WY U @EfE S W 40,000 T
& = A fr &, S SR SO TEsh g SweR § fn o an e e A @
HEYR R F SF *1 o3 f8e o1 &1 o/ § ofw &, o9 foofy § w0 & fifeard
M ?

(A) 40,000 T3 s & Tl § w-IGrg

(B) 40,000 ¥9d &S S % %@ o # gfwfa fro ST

(C) 40,000 *9F it S #1 Ha o™ § whinfaa feu s

(D) 40,000 ¥4 ABC Ltd. & =& d s-4rg 3

T.B.C. : RT/SL/Co/P2/2024—A 167



39  Where an asset used for scientific research for more than three years 1s sold
without having been used for other purposes, then the sale proceeds to the extent
of the cost of the asset already allowed as deduction under section 35 of Income

Tax Act, 1961 in the past shall be treated as :

=~

(A) Business income (B) Long-term capital gail

(C) Short-term capital gain (D) Exempted income

ﬁ@%ﬁﬁﬁ%ﬁﬁﬂﬁﬂﬁ%@?ﬂ?@ﬁ%ﬂﬁ%ﬂ
2, o o= REd @ IW@m & fAu o= S €, @ feeet 6 e & % 39
Tufe F AN F TR SAFHT IAUFEHE, 1961 H URT 35 B T&d Fodl B ®4 H HA
fF T ¥, S WA ST

(A) AR (B) <iefhfer s wns
(C) IrcuFiicrr S = (D) | Wa I

40. Which of the following is not a property of the Normal distﬁbiution ?
(A) Mean = median = mode in a normal distribution
(B) Kurtosis = 3 i.e. mesokurtic in a normal distribution
(C) Skewness = 1 in a_normal distribution
(D) The normal distribution is a bell-shaped curve
frefafea § ¥ @ gmr fTaw w5 o fav @ e 2
(A) g faao |# @eg = Afeasd = sgas

(B W fw § e = 3 s e

(C) "= famw # =W = 1
(D) WHEM faao T HA # AGR H 9% ol ©
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41.

42.

Calculate Karl Pearson’s coefficient of correlation based on the given data for
a series of paired data : |

Covariance between X and Y series = — 8.9
Standard deviation of X series = 6.1

Standard deviation of Y series = 3.9

(A) -0.3741 (B) -0.5690
(C) -0.8900 (D) 0.5690
g el W fEen # fow R T 22 B MR W ded W wedEy e
fraifere. -

X 3R Y Heen & sta wafEy = 8.9

X J@a &1 qEE fgued = 6.1

Y g@en #1 uEw fawed = 3.9

(A) -0.3741 (B) -0.5690
(C) -0.8900 (D) 0.5690

Which of the following statements is CORRECT with relation to simple
regression ?

(A) The regression model assumes that the error terms ¢ are not normally
distributed.

(B) It is assumed that the values of the independent variable are fixed while
those of the dependent variable are random with randomness arising from
the error term.

(C) Regression coefficients and their product 72 can exceed a numerical value
of +1.

(D) The regression lines are positively sloped in case of a negative correlation
between the variables. '

W Ty & day A frafafen § @ S w99 98 € 2
(A) Ter Afed 7 © % qfe o ¢ wm w9 F foafa 7@ @ §)

(B) wm%%wﬁam%mﬁ%@ﬁ%mﬁaﬁmm%mw
B0 ¥ o agfesa It v @ sa= o6t R

(C) i T iR IR IR 2 H HEAHF Yod +1 ¥ Idfuw @ gwar ¥

D) T & &9 THRHS TeEaY & HHG # TIvHE @ GHRAE o 9t

Bt ¥l
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43. Type II error in hypothesis testing ...........cccc.c....

(A) Can be determined without knowing the true universe value.

(C) Is usually denoted by a and occurs when the null hypothesi§ is not false

i

(B) Represents the level of significance of the test. ,;'
|

[!

but rejected. i

(D) Is usually denoted by B and occurs when the null hypothesi§ is false but

not rejected.

feea qhgor § ey I gfe o 1 |
A) FF T wEs g w oo Feifa # o wwd |

i
(B) wlaw & Wew™ & WR l wiafifued war € |

(C) IR W o BRI Tl S & SR 7 A ¥ @ Y e § Tﬁ‘é’lﬁ‘f
WfhT Tt HT &1 Sl B \ |
(D) PRR W P gRI T ST § SR 7@ B ¥ T YA T Wﬁ?ﬁ%

AR S&iFa & H A S

@ 8% interest per annum. Assuming Net Income Approach a

capitalization rate (k,) of 10%, calculate value of the firm.
(A) T 60,00,000 (B) ¥ 9,20,000

() % 6,00,000 : | D) % 48,00,000

¥ @ 8% =ftid = W Yo TEE W R T e S < (k) 10% T
B, WH w1 oo Tremifere ) |
(A) % 60,00,000 (B) % 9,20,000
(C) % 6,00,000 (D) % 48,00,000
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45.

46.

47.

Identify the CORRECT statement with relation to future and forward contracts :

(A) There are various organized futures exchanges across the globe.

(B) Cash or shares are required to be deposited by buyers and sellers of forward
contracts as margin.

(C) Futures contracts are non-standardized and customizable according to
counterparties’ needs; whereas forward contracts are standardized.

(D) Marked-to-market is a process involving re-evaluation of futures contracts
at the end of each trading day to determine profits and losses.

qfesd @R o & orEdl & Gaw A W Fom # UgEE AU

(A) R ¥ fafy= dnfea vfass e §

(B) ST & orfadl & Wikri iR fagaisii g 7ifsfH & w9 & Tog @ ¥R fpu
S T STEvTRT B ¥

(C) T gy WM-AFiFa iR wfquferdi #1 &<l & SHER SR 3 §; Sehw
AN & FEY THAIHd Bd B

D) H?@‘ﬂﬁ?%aﬁﬁwqaﬂ?mﬁwﬁWaﬂﬁémwaﬁ%ﬁmgﬂ:
iR HA ATl R WE-2-HEhe, B

Which of the following is not a type of merger ?

(A) Parallel merger (B) Horizontal merger

(C) Conglomerate merger (D) Vertical merger

fr=fafed § & s faog #1 wor 76 & 2

(A) THMARR foem B) &ftw faem

(C) fafasia foera (D) aaq faem

Value of a levered firm = Value of an unlevered firm + ............o.......... . Complete
the equation.

(A) Interest on debt. (B) Net operating profit i.le. EBIT.
(C) Value of interest tax shield. (D) Profit after taxes.

R0 g HH H UET = HO Ted wH TEA 4 e | FHIETO QA BT |
(A) HIT W = (B) "2 HRfIM &Y igfa EBIT

(C) =N X @ H A (D) = &% &% H @Y
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48. Which of the following scenarios best illustrates the concept of “price discovery”

in the stock market ?

(A) A company’s IPO receives overwhelming demand, resulting in & substantial

increase in its stock price on the first day of trading.

(B) A stock experiences sudden price volatility due to rumors abm.’t a potential

merger with another company. l

(C) An investor sells a large block of shares, causing the stock prT:e to decline

sharply in a short period. |

!
[

(D) A regulatory authority introduces new guidelines to enhance iransparency

in corporate disclosures, leading to increased investor confidence.

frafafes Tieedl 3§ ¥ F99 “geg @9 F1 FFUR B TR a6 H gEd 3T
qeiar ® 2

(A) T& I F EHN 3agd AT W Far €, FEd 396 I Hl HiHa § AR
% Teal &7 wemyYl gfg e T

(B) TH YA = Hod SRl 1 Y FI ¢ Hifh Th 3 H9l & Y
guifed faeg & s # ware el B

(C) TF Travs @€t " § IR S=ar ¢, TR YR w1 #ima § o€l ey § It
q firEe e ¥

(D) @mmmmﬁmﬁmmamwww
Fa ¢, Fored fRve! = favem e ®
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49.  In the context of stock market operations, which statement accurately reflects

the role of a stock exchange in facilitating trading activities ?

(A) Stock exchanges primarily serve as intermediaries between buyers and
sellers, ensuring fair pricing of securities through centralized trading

platforms.

(B) Stock exchanges function solely to promote speculative trading, often resulting

in excessive price fluctuations and market instability.

(C) Stock exchanges primarily focus on providing investment advice and

recommendations to individual investors, aiming to maximize their returns.

(D) Stock exchanges play a passive role in the market, merely listing securities
for trading without actively monitoring market activities or enforcing

regulations.

ﬁmw%@m%ﬁaﬁﬁ,mmmmﬁaﬂﬁﬁﬁﬁﬁgﬁwm

H IR TS F yfie W eie w7 9 wiafie s o2

(A) IN TEES g&F T § WiGR iR st & 9 veny @ w9 § 359 5@
%,ﬁ%mﬁmﬁﬁ%mwﬁuﬁmﬁﬁmawﬁwm
W B

(B) I TSRS shefel SIS SATIR H1 Fgral 23 B Forw el e ¥, 1R STty
T IR-9gE 3R SR iferar w1 FRo a9 ¥

(C) I TS q&r ¥ § A Fravai #1 F39 gar ok el wrn 5aq
W &5 B §, 37 fied # siftmaw 0 %1 959 @R §)

(D) ﬁmmﬁawﬁwﬁmiﬁmﬁmﬁﬁ,muﬁiﬁﬁﬁlﬁam%
foe %1 #2d ¥ fom wfepm w9 @ SR wfafafie # fredt @ fred w5 aes
gifyea fea)
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50.

51.

|
When conducting a feasibility study for a project, which of the following

factors is most crucial in determining project viability under | cértain market
conditions ? |

(A) Market demand analysis based on historical data

(B) Utilization of PERT and CPM techniques for project sc ' uling

(C) Assessment of financial risks and financing schemes from finan mstitutions

(D) Implementation of technical analysis for selecting plant

& R & fon srerda s R THE, AAITE SR TR n|
R feifa w@ #§ S 6 T TeEq ¥ 2

(A) UWefed 2 & FUR W AR w1 ferwersm i
(B) uR@Hl sgHie & faq PERT iR CPM d&isi 1 3

© Tt e @ fsa st o o et oy
(D) ﬁﬁaaﬂtwﬁwwwémaﬁaﬁmﬁwm' e

In the context of demand forecasting and market planning, which source of

information is considered most reliable for estimating future market tr!ends

(A) Primary data collected through surveys and mterwewé' ith polt,entlal
customers J .
{ |
(B) Secondary data obtained from industry reports and govern n-:! nt publications
I

(C) Technical analysis of production technology and product mi> optimization

(D) Financial analysis of project costs and means of financing

bt e S ST A et #, 9 % T e w1 S A % g
Fr g W e s favawda W oS g 7 :: |

PR ——— e R B
(B) wam foiidf o Wi Al ¥ ww fgdfas 2 I |

(C) S Seifie ok S fasor sgEer w1 qAil f

(D) ufEsEr ard iR foa disor & el @ fasia favemo
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52.

53.

During project implementation, what is the primary purpose of project review
and control ?

(A) Evaluation of project feasibility and appraisal criteria

(B) Identification of potential time and cost overruns for corrective action
(C) Market analysis for demand forecasting and market planning adjustments
(D) Assessment of technical analysis outputs for materials and inputs optimization
vﬁﬁw&mﬁw%ﬁm,ﬁwﬁmaﬁtﬁ?ﬁwmmm?&ww% ?
(A) IREST SR iR qearhT ARl ®1 gei

(B) ﬁﬂﬁawaﬂtmaﬁmﬁ@aﬁw%mgmmﬁaﬁ

(C) M gaiga iR IR s wrsEl % fag aeR fve

D) Waﬂtmwﬁmaﬁﬁﬁﬁwmmw

In the context of screen-based trading, what role do share price indices play,
and why are they important ?

(A) Share price indices facilitate settlement of trades and determine trading
fees for brokers.

(B) Share price indices provide real-time updates on market trends and help
investors gauge overall market performance.
(C) Share price indices regulate the listing procedure and accounting records

for buying/selling transactions.

(D) Share price indices compile index numbers for interpreting forward
transactions and derivative trading.

TR-SMHIRE MR & wesf &, YR qen guwiwl 9 w ufim o 2, ek 4 i

Heaqu ¥ ?

(A) Wwwaﬁ%ﬁmaﬁ!ﬁwm%aﬂtmﬁ%mw
Yo fuifa w@ ¥

(B) ¥R Yoo YEFHIE AWK B A | AEF THY AT o[ F F 3w Prav
H T TR YGIE H T FE A Heg FE F

(C) YRR qea Yushis fafen wiman ik wdie/fast 3m-27 @ fore o fete =) fafiafi
FW T

(D) RR 7T Yahih A F -1 i MAfea =R F =wEm F frw gEEE
&3l # Ghed w4 £ '
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54. When comparing Internet-based trading with traditional tradir#g methods, which

|
statement best describes a distinguishing feature of Interne%—based trading ?

(A) Internet-based trading involves physical trading ﬂoorsf; and face-to-face

transactions with brokers. i

(B) Internet-based trading allows for real-time access to market data and instant

. e WE
execution of trades from anywhere with internet conneictlwty.

|
(C) Internet-based trading restricts trading activities to specrfiﬁc trading hours

and requires manual submission of trade orders.

(D) Internet-based trading relies solely on cash transactions and does not support
derivative trading.
P S P N S QS | (S g
R 1 T fafire favom &1 avie wa 72
(A EECR-MUIE AR § ifaed SR w5fel iR e & WY $HT-9H F AE-ad
e B €
(B) TAR-MYINE SR HI9R 22 e AT T9F Ted SR Fel Hl 582 HhAfrfadd
® WY T 8l & R # Al <@ # !
- |

(C) Tee-anuifid =R fafite =R 2 9@ =R Tfafafs @ it #wa § iR
MR AR H1 HYTd GAMHYH HI TEvIRd el 7

(D) @ﬁz—mmwmmﬁ?—ﬁmﬁﬁtm%aﬂiéﬁaﬁamm
TR T8 I |
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55.  Calculate the share price index using the Laspeyre’s method for the following
hypothetical data :

(A)
(C)

Company | Price %) | Quantity (Shares)

A | 100 1500

B | 150 1300

C | 200 |400

D | 120 1600
155 (B) 140
165 D) 150

frefafen weaf 22 & fag e fafy =1 sEm w3 SR o gEwie #t T

LI

(A)
©

YA | 999 () | | (FE)

A ] 100 1500

B | 150 1300

C | 200 1400

D | 120 1600
155 (B) 140
165 D) 150

56. When evaluating the methods of trading options, which factor should investors
prioritize to mitigate risk effectively ?

(A)

(B)

©)

- (D)

Opting for European-style options over American-style options to reduce
complexity in trading strategies.

Employing hedging techniques such as covered calls or protective puts to
limit potential losses.

Leveraging FITs to access diverse funding sources and hedge against currency
fluctuations.

Investing in Euro issues rather than ADRs or GDRs to minimize exposure
to exchange rate risk.

faeredl & =R &l w1 qoaiEd w99y, R B sifem B gt g1 @
9 1 & fau fey e w1 mufea o afsg 2

(A)
(B)
(©

D)

R WEAfqdl § Sfearar & 0 &0 & fau smfw-det & fawedt Y o
# gida-vet & fosedl @1 waT &)

guifaa aifEl =t Hifg 0 & fau wad *wia a1 MRefaes e St ST awia!
H YA HEATN

31 IR-9g@ & faars 39 w0 iR fafay famdv didi @ wd9 @
% faq FITs 1 @9 Samn|

fafra <X Sifem & ¥ % F9 &7 % ot ADRs 91 GDRs & S99 90 399
# e s
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|
657. Which of the following best describes a key requirement imposed by SEBI
guidelines regarding derivatives trading in India ?

(A) Mandating the use of complex trading strategies to enhance market liquidity

and investor participation

(B) Restricting the trading of derivatives to accredited inv%tors with high net

worth to minimize market volatility

(C) Enforcing stringent margin requirements and position limits to mitigate

I
|
systemic risks associated with derivatives trading :
I

(D) Allowing derivative issuers to operate without regulatory oversight to

encourage innovation and market competitiveness.

yra § Sfafess 3fen & waw § SEBI ety g omé T8

¥ ?

TIE STEvaHal

(A) R o IR e gl # sen & fou sifewd =R wrEifed @ swEm

W SEYIEHAT \:

(B) mﬂaﬂ%ﬂmaﬂmmﬁ%m@ﬁaﬁw%wﬁaiﬁﬁzaﬁmw
g fave 9% difia &

|

|

!

(C) fafesw e ¥ TR foefrs Nfadl F1 &7 50 & fog #a
3R feufa dmsdi &1 @ry wEn

it sTTeargeharsii

(D) R gfayl 3R FaER %1 Wdfsd w¢ & fou Sfafa 3
fret & fom d=ifaa w0 =t sEfa < '1
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58. Match the following :

List-I List-II
(Industry) (Method of Costing)
(@) Sugar (1) Unit Costing
(b) Cold Drinks (2) Job Costing
(¢) Advertising (3) Operating Costing
(d) Hospital (4) Process Costing

Codes :

@ . @) i) @)
a o @ @ @
@ O @ @ O
©c @ O @ 6
® @ @ @O O
frafafea =1 fiom 1 .

qel-1 -1
(3=) (T erEiwT @ faf)
(@ R 1) Feam
(b) wics fgFm (2) " @rTa
(¢ fagm (3) sfafen wnm
@) e (4) THE A

wE :

(@ (b) - -fe) = id)
@a o @ 6 @
B 1 @ @ @
©*@" Q) @S
™ @ @ @O @
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59. Statement (I) : Captive Consumption is the production of goods manufactured

by one division or unit and consumed by another division

r unit of the same

organization or related undertaking for manufacturing another product(s).

Statement (II) : Normal Capacity is the production achieved or achievable on

an average over a period or season under normal circumstances taking into account

the loss of capacity resulting from planned maintenance.
(A) Both the statements are true

.(B) Both the statements are false

(C) Statement (I) is true, but statement (II) is false

(D) Statement (II) is true, but statement (I) is false

HIT (I) : e HHYE IH IAET ®I Hal Il & Sl Th
a1 T 3R S WA A1 Gafud SusH & 37y fediteH 41 T
frafor & forw sudim foa S )

71 s g fafda
TR SRS &

HUA (1) : T & 9F SR § S W wRief § s vees @ s
AT B THEM B HH B @A g U &Y I WY d NHE W WS A WS Hi

ST gt T

(A) T FwU A

(B) THI HUT IHA T

(C) F¥F (I) ¥4 8, Wg oA (II) 39A ol
(D) *¥ (II) ¥ &, g F97 () 76T 2
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60. Match the following :
List-I | List-II
(@) Wages paid to factory workers (1) Administrative overheads
() Job charges paid for job workers (2) Direct expenses

() Salary paid to manager - Finance

and Accounts (3) Factory overheads
(d) Salary paid to supervisors (4) Employee cost
Codes :

(@ & @© @
Aa @1 @ @ @
B) (1) @ @@
e @@ @O @ @
M @ @@ @O A
frefafea =1 fiaem =+ .

-1 Heit-11
(@ WG FHERE R Ry T 3 (1) wEtE eRey
() il Twd & fau s S=iw _ (2) YOy @4
(© fau it d@n FoR # fen T AW (3) el SfeRdEw
(@) guarsd & o T a9 (4) FHHAK @

HE :

@ ® @ @
@a o @ 6 @
@ 1 @ @ @
o 9w O @ @
® @ @ @O @
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61. Statement (I) : Material Cost of abnormal scrap/defectives should not he included

- I

in material cost but treated as loss after deducting the realiza

scrap/defectives.

(A) Both the statements are true
(B) Both the statements are false
(C) Statement (I) is true, but statement (II) is false
(D) Statement (II) is true, but statement (I) is false

HIT (1) : SR BhU/QWYU i TR @Td 1 SRl dra § 30
aifeq afesh T8 Shu/oqul & Juref qod H T THEM B _.:ﬁHHTEHTiITI%!U

FI (1D : 99 Sho/Reg, 5% srefier fofan T &, 1 H
ORI H GEER @ A e feen s =nfew)

(A) F HYT 9 T
(B) <H ®YF FEH T

(C) &% (I) ¥4 ¥, Wg HoF (1) A T
(D) F¥F (II) ¥ §, WG F49 (1) A ¥

62. A company forfeited 700 shares of T 20 each, on which ¥ 10 pe
Of these, 200 shares were reissued at ¥ 18 per share. Amount fr

share were paid.
om share forfeited
to capital reserve account will be transferred to :

(A) T 1,600 (B) ¥ 400
(C) % 7,000 (D) 5,000 ;
TF FHT A 700 I BT T 20 FOF W 5= oA, W R 2 10 W

T A1 |, 200 9 R T 18 i YR W G WG FRA W IR W d et
Rfya B0 # g # o At afn g o '
(A) T 1,600 (B) ¥ 400
(C) T 7,000 (D) T 5,000
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63. Match the following :

List-I

(@) Operating Segment

() Joint Arrangements

(¢) Regulatory Deferral Accounts

(d) Separate Financial Statements

Codes :

(@ B (o
A=ay @ @
B) @4 3 @
e @ @O @
M @ @ @

(@)
(4)
(1)
3)
3)

frfafea =1 faom =2

eI
(@ AR dme
(b) HIH HIEAT
) Fams ™ e
(@) e foxfta faero
®E :

Gy - b Tutel
a @ @ @
B) @ G @
© @ @O @
M @ @ @

(d)
(4)
(1)
3)
3)

T.B.C. : RT/SL/Co/P2/2024—A
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1)
2)
3)
4)

(1)
(2
3
4)

List-IT
Ind AS-27
Ind AS-114
Ind AS-111
Ind AS-108

geit-11
¥T TWE-27
3T WUE-114
3T WE-111

3¢ TTH-108



64. Subscriptions collected by the society during the year 2022 amount to % 3,700
out of which ¥ 400 represented subscription for the year 2021; 200 were
subscriptions collected in advance for the year 2023 and subﬁription amount

to ¥ 1,000 were outstanding for recovery at the end of 2022, The amount to

be transferred to Income and Expenditure account at the end of the year 2022

will be :
(A) T 4,100 ' (B) % 3,300 .
(C) T 4,300 D) T 4_,500 ‘

graredt g 96 2022 ® RF U #1 T wewa Yo T 3,700 ®, fEE | T 400
ad 2021 & few =1; 200 7 2023 & forw qd § wwlHT Tew Yok 9 iR T 2022
# i # ¢ 1,000 F1 TE YeH g F fw w4 A 2022 F o 4 om
SR = TR § eERE W o A a A |

(A) % 4,100 ' (B) ¥ 3,300

(C) T 4,300 (D) T 4,500
65. Which of the following is a cash flow from operating activities ?

(A) TDS on interest earned on investments made
(B) TDS on interest earned on the advance given to suppli!ser
(C) Dividend paid for the year
(D) Loans and advances given and interest earned to its subsidiary companies
frafafes § ¥ wFe ofEem wfafafd & T8 var ¢ 2
(A) fRw fee T faw W efdd =9 W TDS
(B) eqfdeal w1 T T SIfim W efsi@ S | TDS
() =¥ & foau e mn s

(D) Wma&qﬁﬁﬁﬁq%%aﬁxaﬁnaﬁhaﬁafm
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66.

67.

68.

69.

In the context of the marketing mix, what does the “Product” component
focus on ?

(A) The cost associated with producing the product

(B) The communication strategies for advertising the product
(C) The distribution channels through which the product is sold
(D) The features, quality, and design of the product

fagm fagor & @i #, 'Sac’! wew fFg W Bfga § 2

(A) SO M & g JE A

(B) S % fommm & fau 9r it

(C) fomm =7a foos weam | SR =1 S ®

(D) e = fodroand, o @ik fesmea

Which of the following is a promotional tool used in the marketing mix ?
(A) Price discounts (B) Direct selling

(C) Product design (D) Consumer financing options
frafafes § @ #F@ & =WREs StR  Saer swm fauvm fagor | fea
S ? :
(A) I & (B) w9y fasa

(C) SR fesmE (D) Suvem fou faswew

Which of the following categories in the BCG Matrix represents a business unit
with high market growth but low market share ?

(A) Cash Cows (B) Dogs
(C) Question Marks (D) Stars

BCG Hfesw # fafafed Sl § @ < & saeufas s & <o & faad
S=9 9NR gig oifeh w9 9oR fe@ed § 2

(A) Cash Cows (B) Dogs
(C) Question Marks (D) Stars

Which stage of the buying decision process involves comparing different products,
brands or services based on features, prices, and quality ?

(A) Need Recognition (B) Information Search
(C) .Evaluation of Alternatives (D) Purchase Decision

T fofg wfwman & form =vor § fasioanst, gedi 8iR Toe & omur R fafv= @i,

wiet a1 [ansit w g H S § 2

(A) SAEYIHA TEAH (B) g=1 W
(C) - fowedl =1 HeaihT (D) @i fiofg
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70. A retailer wants to optimize its inventory by managing its product line depth
without losing customer interest. Which strategy would be most effective ?

(A) Concentrating on best-sellers while phasing out low-performing products.
(B) Increasing the variety of products to cover all possible congumer preferences.
(C) Lowering prices across the board to increase the turnover of all stocked items.

(D) Expanding the number of brands offered for a single product category

TH TEU Al AT IR AT TS FI FAlHA HIF ST TS P SHICH
FT AR %, fo Ues e A W) A OE o g9E w2

(A) F=-IJad | Hfxd AN FaF FH YEEH TS AR H HL-HT BT
(B) Tt denfag Susiemr wufiywais #1 HeR w0 & fau el w1 fafguar ser |

(C) Hﬁmmmm%ﬁaﬂmaﬁaﬁ%mwﬂwaﬁéﬁmw
AT
D) TH & IO vt & fog S F T FgE|

71. In a market where customers highly value sustainable and ethically produced
products, how should a company leveraging the 5C Framework approach pricing
for its new line of eco-friendly products ?

(A) Price the products lower than conventional alternatives ta quickly penetrate
the market.

(B) Set a premium price to reflect the higher value customers place on
sustainability and ethical production.
(C) Match the prices of non-eco-friendly competitors to avaid price wars.

(D) Offer the products at cost to build customer loyalty before gradually increasing
prices.

@Wﬁaﬁmmmmm@ﬁﬁawﬁﬁmaﬁmi@ﬁ%
@mﬁﬁmﬁuﬁaﬁgﬁmmﬁmwﬁmﬁmaﬁq
& 98 5C BHI® & Y 331 W B ?

(A) wﬁﬁﬁmw%mwﬁaﬁwﬁﬁgﬁmﬁwﬁﬁaﬁm
F9 W@ |

(B) mmmmmmmr@wsﬁ{aaﬁmﬁamﬁ
fou ww Wi gea fuffa w1

(C) ﬁﬁa@ﬁmﬁmﬁmmmﬁmwﬁmﬁl

(D) gﬁmaﬂﬁ#mw@ﬁmwﬁwaﬁmm&tﬁi%ﬂiw
Sl
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72. A manufacturer of high-end electronic gadgets wants to ensure its products are
presented and sold in a way that aligns with its brand image. Which type of

intermediary should it prioritize in its distribution channel strategy ?

(A) Online retailers, to ensure widespread availability.

(B) Speciality stores, to provide an environment that matches the product’s

premium nature.
(C) Discount retailers, to maximize sales volume.

(D) Direct selling, to eliminate the need for intermediaries.

See-37d soeRleh NSem @1 Fla T Sl 1 T e ¥ U9 SR S =
T S 3HE 7E B & oEY A1 W A famw I wHifa § fRE yeR @ wey
I WU < =fey ?

(A) e feed, = Sueesm gifvea w0 & faw)

(B) "ot ¥, IR F1 NfHam vHfa & Y T aq@eRy &H FH & faw)
(C) femre fead, famt amn =1 fusas s & fau)

(D) way fasha, meawell & FEvIHd. ® GO« FH & fau|

73. A start-up launching a new fitness app wants to determine the most effective

promotion mix. Which target audience characteristic should primarily influence
their decision ?

(A) The age demographic’s preferred communication channels.
(B) The geographic distribution of potential users.
(C) The income level of the target audience.

(D) The fitness level of the potential users.

T 791 a9 W9 &fg $1 9 T =y T9d guet yur fasor fuifa s
e % 3T fofa 1 g w9 9 few dfya i faxea & guifaa s e 2

(A) ¥ SHWHE & TELRT GER B |
(B) Hwifad IwdnTehaieli &1 riiferss faamon)
(C) wfed il T M =R |

(D) Hwifad ITarTeRaiedi &1 fherd &
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74.  After launching a new product, a company gathers mixed feedback from various
communication channels. What is the most effective way to utilize this feedback

for improving customer interaction management ?

(A) Focus only on positive feedback to boost marketing efforts.

(B) Analyze the feedback to identify common issues and prioritizeé improvements.
(C) Disregard negative feedback that doesn't align with internal assessments.

(D) Use automated responses to acknowledge feedback without taking further
action.

TF 791 I9E o9 FH & 9 T 4t fafv= g=r 99 @ fafye ufafsan
FHA ¥ | UEE A yauA | gUR # fau T wfafmar #1 SwEm s w1 g9d g
qldT = ¥ ?

(A) fagom varEl A seEr 9 B fou faa GeReEe gfafsar W Sfsd Hi

(B) WM W& &I TguH #4 dR guRl 1 wafhewar 31 & fou wfifw 1 favewo
FI

(C) 37 THRcH Jfafwarsii HI STAQ@n &L Sl AaNE Jedihd & JIIET T8l ¢l

(D) oM W FHar Ry fam whfen B @ER 0 @ fau @i sl w5
ST A | '

75. How does value innovation contribute to the creation of a blue ocean ?

(A) By focusing solely on technological innovation to disrupt eurrent markets.

(B) By making the competition irrelevant through the simultaneous pursuit
of differentiation and low cost.

(C) By prioritizing cost-cutting measures to offer the lowest price products in
existing markets.

(D) By incrementally improving products to meet the existing standards of a
red ocean market.

et wewErR &% fmiv § g TR ¥ 9EE @ ¥ 2
(A) R SR # faufed w0 & fau Sad deiel TaER 9 Hisd el
(B) WewE 3R %A AN I FEMIGT ToT ®le GiaeHt  AYENTE Sl |

(C) HieE a9R § Fo8 %0 god 9ol SRl i Ny @ e @r-sherdt Sl
H wafgwar IH

D) wmw%ﬁﬁﬁnﬁaﬁaﬁwaﬂ%%mmﬁmzﬁﬁﬁaﬂ
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76.

Vi

78.

Which formula is used to calculate EOQ ?

(A) EOQ = V(2 * D * S)/H) (B) EOQ = V(2 * D * H)/S)
(C) EOQ=MD *S)/H (D) EOQ =D *H)/S

EOQ &1 TUAT fFE ¥ #1 3TN Hh & Il 7 ?

(A) EOQ =V(2 * D * S)/H) (B) EOQ = V(2 * D * H)/S)
(C) EOQ = (D * S)/H (D) E0Q =D * H)/S

Which performance appraisal method allows employees to participate in setting
their own performance goals ?

(A) Graphic rating scale

(B) Behaviorally Anchored Rating Scales (BARS)
(C) Management by Objectives (MBO)

(D) Forced ranking method

FrE wev e ggfa wHEREl S SR T wew @edl w1 freifa w0 Hq am
o @ T ?

(A) wirsw e Tmm

(B) =gaer Huifed e Y9 (BARS)
(C) ¥ & wEvT (MBO)

(D) =Rl ¥R ugfa

Which regulatory body in India is responsible for regulating and promoting
startups ?

(A) RBI (Reserve Bank of India)

(B) SEBI (Securities and Exchange Board of India)

(C) SIDBI (Small Industries Development Bank of India)

(D) DPIIT (Department for Promotion of Industry and Internal Trade)
R § R e S wRew @ faw ol W & fag fier ® 2
(A) RBI (¥ fod o)

(B) SEBI (urdra wfaufa v fafma &)

(C) SIDBI (=g veim fawra &% 3w 3fean)

(D) DPIT (S8m 3k siafts =mm @ W & fog favm)
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79. Which Indian startup became the first unicorn to be listed on the Indian stock

exchanges ?

(A) Flipkart (B) Zomato

(C) Ola (D) Paytm
wmmﬁ@ﬁmmqﬁaﬁwaﬁmmm&mwm
g7 , |

(A) FrerTer (B) <R |

(C) sfem (D) W

80. According to Alderfer's ERG theory, which category of needs includes desires
for personal growth and development ? '

(A) Existence needs (B) Relatedness needs
(C) Growth needs (D) Esteem needs |

Teest & ERG fogia & s, fg Soft i sevasand safrrm & o fos
# geEiell w1 Wifee T ¥ ?

(A) a1 EvHa (B) Hafud syergshand :
(C) foFm it sravawan (D)maﬁmf
81. Educational psychology is concerned with the study of ............. : L
(A) Philosophy of education (B) Educational 1eam1né
(C) Human learning - (D) Teaching methods |
e AT gy & s @ ¥
(A) Toem <= (B) difersr faram |
(C) W= faen (D) foeor faferat |
B2, - s believed in a genéra] intelligence factor. |
(A) Sternbei‘g (B) Spearman ;
(C) Gardner - (D) Thurstone .
........................ e s e % v @ |
A) = (B) wirid
(C) TMEW (D) g&A
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83. What are the three components of the educational process ?
(A) Education, teacher and books
(B) Teacher, student and education.
(C) Teaching, learning and practice

(D) Direction, instruction and skill

Aferd whranr & @ wew w0 T 2
(A) e, e 3R forarsl

(B) fuas, v= R foan

(C) foeo, Hiem iR e1vg
(D) fewm, feéw 3R Fre

84. Which is the first school for a child’s education ?

(A) Society (B) Friends
(C) Family (D) School
F= #1 foan & fou wwen =@ s ¥ 2

(A) A (B) T
(C) WfER . (D) formem

85. The ceremony of initiation of education in Buddhism is called :

(A) Vidyarambam (B) Upanayanam
(C) Pabajja (D) Upasampada
g o § fran fan TERE wE SR e

(A) foiam =1 9o (B) 3SuEH

(©) T D) ST

T.B.C. : RT/SL/Co/P2/2024—A 40



86. Schools are basically social institutioné as :
(A) They preserve and instill the values of our culture in future generations
- (B) They suggest ways and means for social progress
(C) They suggest solutions to social problems
(D) They are established by the society
foreTer e I et ¥
(A) 9 9t difgd & s 9%pfa & godi & wfaa iR wifig w@ ¥
(B) A Wi wifd & S99 g & '
(C) 9 WM Fw&nsli &1 §HH I ¥
(D) o O gR wfyd foFd 7 )

87. Development of language in children, according to B.F. Skinner, is the

result of :

(A) Training in grammar (B) Imitation and reinforcement
(C) Innate abilities (D) Maturation

HuF RER F FHER a= § W F1 famw feww uRum ¥ 2

(A) R § wfvier (B) & R YIdww

(C) VS e (D) ftaaRrm

88. Metaphysics’ means :
(A) A branch of Physics
(B) Exploring the nature of ultimate
(C). Reality Physics of metals
(D) Physics of weather
IR F1 FaeE ¥
(A) Hifewt ®F & wmEn
(B) WH I YHfa &I @
(C) wrgsli 1 arafasar ifast
(D) +HEm @t fget
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89. What type of candidate should be employed as teacher ?

(A) The one, who possess good communication skills with minimum professional

qualification
(B) The one, who is good with the content and communication skill

(C) The one, who possesses educational and professional qualifications with higher
order

(D) The one, who has requisite educational and professional qualifications and

loves the learners
foa R & Iuficar # fasd & w9 A fgw fFa s afsw 2
(A T, NS Uw Ean EEias A $ Y 3T 9K hRd ©
(B) @&, St Wit ok WeR e # orm ®
(C) =&, S 3= Hife = Vel T ey draad @ @

(D) =, fogs g snfem dfes ik seEfas drgand € ik ag foanfdE @ =R
Excii S

90. Which one of the following policy document was called the ‘Magna Carta’ of

Western education system in India ?

(A) Macaulay’s Minute of 1835'

(B) Indian Education Commission Report of 1882
(©) Char.les Woods Despatch of 1854

(D) Releigh Commission Report of 1902

frefafen § ¥ feg A @R S ARG § e Rren el i sl @
Sar o1 ?

(A) FF F 1835 F1 fire

(B) wdrm ferenm smdm &t 1882 i R
., (C) 1854 &1 dcd ggw fediw

D) 1902 =1 ™A mm o
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- | VOSSR S AT means communication without words.

(A) Object communication (B) Written communication
(C) Oral communication (D) Non-verbal communication
........................ # ad ¥ =l @ R §ER)
(A) % FER (B) fafem @=R
(C) #fgs H=Rr (D) R-dfes F=R)

92. For a teacher teaching a class with large. strength, which of the techniques is
best ?

(A) Debate, discussions, practical
(B) Group wofk with a lecture
(C) Lecture and class notes
(D) Self-study and asking questions
a1 Al dIelt HE H TR i New & fau FEE qEe ged e § 2
A) r-faarg, faer-faust, smEwi
(B) =AM % WY W g &M
(C) =AM 3R He ™
(D) @W-3eaa iR yv g
93. ‘Buniyadi Shiksha’ plan is based on .................. plan.
(A) Mahatma Gandhi’s
(B) Rabindranath Tagore’s
(C) Dr. Radhakrishnan’s
(D) Maulana Abul Kalam Azad’s

(C) eI TuFSE H
(D) WA FgA FAMH AWE H
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94.

95.

96.

9.

Which is not the function of NCTE ?

(A) Planning for Teacher Education Institutions in India

(B) Providing grants to the Universities

(C) Coordination with Centre and State Government for Teacher Education
issues

(D) Regulating the minimum qualification for teacher educators

NCTE # ®a &/ 98 ¥ ?

(A) 9T # foes foan wear & fag A s

(B) favaformerdi 1 /&M WM TN

(C) fToerw foran g & foau &3 3R T WHR & Y qH<F

(D) foeew wfedi & fau =gAam Jrgar =1 fafEaa

Teaching is a process ..........ccceeu... :

(A) Multi-polar process (B) Tri-polar-process |

(C) Bipolar process (D) None of these

(A) =gy wfwa (B) Prysa-wfswan

(©) fayst wfswan . D T A FE T

Which of the following Commission first decentralized the primary education ?
(A) Kothari ICommission (B) Sadler Commission

(C) Hunter Commission (D) Mudaliar Commission
frafafaa & @ fFg omm 3 @ wea wafhs fan &1 fasd=ieo R ?
(A) el @M (B) ¥ser M

(C) R HHNE (D) WRfER &

Exchange of ideas between two or more persons is :

(A) Understanding (B) Telling

(C) Communication (D) Speaking

q WA Y Afw AR B G fGER w1 ARE-WRE AR

(A) HRZT (B) s

(C) ¥e=R (D) e
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98.  Which of the following statements accurately reflects the approach recommended
by NEP 2020 for integrating ICT in education ?

(A) ICT should be used as a stand-alone tool for delivering instruction
(B) ICT should be integrated seamlessly into the curriculum and pedagogy

(C) ICT should be primarily used for rote memorization and drill-and-practice

exercises

(D) ICT should be employed to replace traditional teaching methods entirely

frafafea § @ Fra FoA foren # oSt 1 whiga w0 ® faw wEd 2020 W@

vifaa gftesor # qd% &9 § goia & 2

A) e J & fau o =1 s & Pe-3e s @ w9 # fEa S
LI

(B) mﬁuﬁﬁmﬁﬂﬁnwﬁﬁﬁaﬁa'mﬁ@ﬂw-mmml

(C) STEHRE! &1 ITAM & &Y ¥ WA 3R gg-3in-3ra e & fau fean
S =Ry

(D) R frem faferdli =1 o @ ¥ Tee @ fou EEA 51 FrfE fe s
w1feq

99. What are OERs ?
(A) Open Educational Resources
(B) Open Examination Resources
(C) Online e-learning Resources
(D) Online Educational Resources
SR 7| T 2
(A) F dfer FEEA
(B) H wle wEEH
(C) 3fFeed S-wf-m Harem
(D) e Sfers T
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100. Which of the following are the advantages of the distance education system ?
(1) Free education for all
(2) Flexible system of education
(3) Encourages earn and learn approach
(4) No regular attendance is required
(5) High and complex method of knowledge acquisition
Choose the correct answer from the options given below :
(A) (1), (2), (3) only
(B) (2), (3), (4) only
(C) (3), (4), (5) only
(D) (1), (4), (5) only
frafafed & 4 g fen yomeht & SFE @ ¥ 2
1) ¥t = faq fxes foan
(2 foen ® el s
(8) HHM R d@T & gfedm #1 Weafed HE ®
(4) frafra sofeafs #t smeavasa @ ©
(5) TH NH H = T dfed fafy
= few T fowed § € w@f W 9T
A) (1), 2), (3) Fad
tB) (2), (3), (4) Had
(C) (3), (4), (5) haw
D) (1), (4), (5) Haa
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wﬁm%&mﬁ@éﬁa‘gﬁamm B
&7 ket aa?ma?_(l >
o, HAE @A 3R T gl JE@e A, B,
faamia & = 91 =i o U9 & WY 90 3R Hgas FA
IS &A1 A1 T oL I1 S & el THIFET & HR0 SW
T @ @ Y T 22 # FE e wE S ¥, SHT SR-qfeeh 1 gk Tel A s SR S8 6
st T ez smam |
STH! T FFA A I T SR W S JeA o 9T | 3L g W FD AR 7 ford | T w7 F
for T gore B ofq # T e Ford H . .
W &2 THOE § 100 32 (9) Hfid § | WelF U (373EH) # AR (A, B, C, D) Weifehand/Sw wiHd €
sl &1 SRR I qfcest A o faseq ¥ @ 7, 39 fawed & et &1 Aot/ o9 99
FZAE/FTA FTA B 13T 3G I 1 TG B (79 9 I-Yfeqam T A FO = € ) A ot
T & o T O ifus TE I S, @ 39 IW ) Tafed i 59 eme e or=w wid § ) faRe ot feafa
¥, yerR azen # foru fae uw yfatsEar 99| afe vl T e | "o & fore fedt wv
IR TEI AT AT & i S SATHSAR AT YReehT | fashed “E” ol e sleg,/chlell STl gr |

- gfafewan/sm Il ST & 71 9 § @ fawed () F e WS

e/ ® [c)

Ife 12 I @IE DS G0 I € SN HIE i fahey SU/HEN TE fHA A @ @ T

R LR £ £k M 2 K o R s M L A

SATTH 7T T SR Boe] ITASH HT, TU_STeN SNTHR IUL Tk T & 3ifeha T 211 | STHSAR IW-

gfeem # few g faen-fdw 3@ | 9+t wvAl & o TEE € .

THY TR TR 39 W 2w g § fafu= argedl & I w1 fafed w31 & fou o g, s

A eEAaE feu g 73 § € T wfafedl @ uR SuEeR SW-gfe H§ #9 faeo 9E g

STHAR - fsh! T 31T Weft I 9T 3R wdien TATE O W e, TR hael S-Gfh H 9w

?é%gﬁﬁﬁﬁmlméegﬁzﬁimaﬁm—maﬁuﬁmwuéaﬁ

|

IfieaR g T STl @ fore, AR FerRers A fea smem — /

(1) TR TE ® fou fres fg sefiear g o S fean e §, 39 v & for few g sl & @
TH-ANUTE (0.25) 3F & & T4 H HI for Smwm|

(dt) afz #1 Ifiean uH | afus S A §, @ T o I A S, v @ e e sl 4 4 &
TE @ @i 39 9 # g ot ST % THE €8 B, SEfd TH-=EE (0.25) 39 WA & feg feg
MY o7 €8 & ®Y H HIS SN |

(&) afz FrE v @t 815 fean S I SEear g HiE Men seeg/FHen & fHa S g, @36
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k! | '
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